)

3

4)

®)

(6)

N

8

@

20 =

b7 =

39 -

24 =

23 =

83 -

Q3 =

28 =

83 =

35 -

44 =

46 -

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

Q0 =

06 -

64 -

64 =

73 =

20 =

77 =

60 -

65 =

27 =

73 =

70 =

32 =

88 -

34 =




@

)

4

®)

©)

N

®

@

20 =

b7 -

39 -

41

24 =

23 =

13 -

83 -

93 -

28 =

83 -

35 -

44 -

46 -

10 =

91

2HT -1 HIR DAY (BEXK)

+ 5 = 4
6= 9
T4 = 6
=2 = 20
+ 3= 8
+ 6 = 3
+ 5= 2
= 4 = 20
=8 = 1
+ 5 =5
+ 5 = 16
+ 9 = 3
+ 8 = 5
T b = 7
S0 =
=9 = 10

20

@n

(22)

(23)

24)

(25)

(26)

@n

(28)

29

€]

3D

(32)

Q0 =

06 -

64 -

64 -

73 =

20 =

77 =

60 -

o1

65 -

27 =

73 -

70 -

32 =

88 -

34 =



